£58NEERBFFRESUEAEE LR

Br&EE 2014/6/14 19:25
ES| FRE |HEE| ME [ XaR|EE| B | ME | 57| B8R BN [ ER| BE | KkE | - |sExe| §m |[sar| BEIER | u] IEGL
1| JugeANE 3.2 [3.8 |0.0 [44 [0.0 [10.0 |44 [2.1 [0.5 [1.85]3.1 | 40 |4.8 42.15 [42.2 17 4| 16
4| BT |48 |79 |42 [50 [17.5]10.0 |50 [4.6 [9.0 |5.00 (4.1 |50 |50 87.10 [s7.1 6 4| 6
5 | skpg=/= |48 |9.6 [50 [50 |25.0 {10.0 [5.0 [3.6 |10.0 {5.00 (5.0 | 5.0 [5.0 98.00 [98.0 2 4l 2
6| # /= |50 |94 [48 [50 |220|9.0 [50 |43 |10.0|(5.00 (5.0 | 4.6 |[5.0 94.10 |94 3 4| 3
7| % 2 |50 |7.8 |33 |45 |50 |10.0[3.6 [3.1 |85 (37547 |50 |5.0 69.25 [69.3 13 41 12
8| E @& |50 |74 [35 |50 |11.0(10.0 [4.8 [4.3 |9.5 |[5.00 |45 |50 |50 80. 00 10 3
9| £ m@® |50 [9.6 [48 |50 |25.010.0 [5.0 |50 |10.0 |[5.00 [5.0 | 5.0 [5.0 99.40 [99.4 1 4l 1
10| EET |39 [55 |26 |45 |60 (100 3.6 |40 [55 [445]|45 |50 |50 64.55 |64.6 15 4| 14
11| #t%T |46 |31 |00 [45 ][00 [9.0 |3.0 [00 [05 [3.00]|1.7 |27 |48 36.90 [36.9 18 4l 17
14| posy#E | 4.8 |7.8 | 2.7 |50 [11.5]10.0 |50 [3.9 [9.0 |5.00 |50 [50 |[5.0 79.70 |79.7 11 4| 10
15| 7 By |48 [9.4 |50 |45 [20.0(10.0 48 |50 [10.0[500]50 |50 |50 93.50 [93.5 4 4l 1
17| %8 = |48 [80 |26 |43 [18.0(10.0 |50 [3.2 [7.5 [445]|50 |50 |50 82.85 |[82.9 8 4] 8
18| i 3.9 |53 |00 [29 [6.5 (100 3.0 [2.4 [3.0 [3.50]3.8 |50 |4.8 54.10 |[54.1 16 4| 15
19| =m=E= |50 [9.1 |38 |50 [20.0(10.0 |50 |44 [80 [500]|44 |50 |50 89.70 |[89.7 5 4| 5
20| #EE&PE | 4.8 | 9.4 (4.4 |45 |17.0 [10.0 [5.0 |3.9 |9.0 (46042 | 5.0 |5.0 86.80 |[86.8 7 4| 7
21| s ® [46 |84 [27 |50 [12.5(10.0 [5.0 [3.0 |6.5 {435(3.2 | 40 [5.0 74.25 |[74.3 12 a4l 11
22| tEggT |44 |65 [2.1 |45 |18.5(10.0 [4.6 |26 |85 [5.00 |49 [50 |48 81.40 |[81.4 9 4l o9
23 | WisriER | 4.8 | 8.4 (2.5 |45 |6.5 [10.0 |46 |3.4 |55 (5.00(3.8 |50 |5.0 69.00 [69.0 14 4| 13
&it 83.2 [136.4 |54.0 |83.1 |242.0 [178.0 |81.4 |62.8 |130.5 [79.95 |76.9 | 85.3 |[89.2 1382.75
b ) 4.6 | 7.6 3 | 46[13.4] 99| 45|35 7.3|440]| 43| 47 [5.0 76. 80
_____ it R 5 10 5 5 25 10 5 5 105.00 5 5 100. 00
XFEE
ES| A |HES| ME [ R EE| X | #E | 57| B BN [ ER2| BE | KkE | - |sExg| B8 |[sAr| BEIERS | x| IEGL
31| # &= [50 [9.8 [46 [50 [21.0|10.0 [5.0 [4.6 |10.0 |5.00 [5.0 | 5.0 [5.0 95.00 [95.0 2 4l 2
32| # =2 [50 |82 [46 [50 |20.0|10.0 [4.8 3.6 |85 |470|4.6 | 40 |50 88.00 |[88.0 4 4| 3
33| £ MW [50 |9.8 [48 [50 |25.0|10.0 [5.0 [4.8 |10.0 |5.00 [5.0 | 5.0 |[5.0 99.40 [99.4 1 4l 1
34| B8 &/ |31 [53 |05 |50 [145(10.0 |50 |0.3 [6.5 [3.60 4.4 | 45 |50 |-2.0 65.70 |[657 6 N
35| 49 /& [48 | 7.4 [3.2 (49 |23.0(10.0 [50 [2.9 |10.0 |4.65 |45 | 50 |[5.0 90. 35 3 2
36 | mariER% 4.8 |83 [41 |50 |18.5(10.0 (50 [3.9 |6.0 (50044 |50 |50 85.00 |[85.0 5 4| 4
=X 27.7 [48.8 [21.8 [29.9 [122.0 [60.0 [29.8 [20.1 [51.0 [27.95 [27.9 | 28.5 [30.0 523. 45
Ity 4.6 |81 |36| 5 [20.3]| 10 5 | 3.4(851(470| 47| 48 |50 [-2.0] 87.20




